# On a generalization of an approximation operator defined by A. Lupass ${ }^{1}$ 

## Ulrich Abel and Mircea Ivan

> Dedicated to Professor Alexandru Lupaş on the ocassion of his 65th birthday


#### Abstract

In this paper we study local approximation properties of a family of positive linear operators introduced by Pethe and Jain. We obtain estimates for the rate of convergence and derive the complete asymptotic expansion for these operators. They generalize the SzászMirakjan operators and approximate functions satisfying a certain growth condition on the infinite interval $[0, \infty)$. On the other hand they contain as a special case an operator defined by A. Lupaş [17, Problem 4, p. 227] in 1995.


2000 Mathematics Subject Classification: 41A60, 41A36, 11B73.

## 1 Introduction

Let $E$ be the class of all functions of exponential type on $[0, \infty)$ with the property $|f(t)| \leq K e^{A t}(t \geq 0)$ for some finite constants $K, A>0$. In 1977,

[^0]Pethe and Jain [15] introduced a generalization $M_{n, \alpha}(n=1,2, \ldots)$ of the Szász-Mirakjan operators associating to each function $f \in E$ the series

$$
\left(M_{n, \alpha} f\right)(x)=(1+n \alpha)^{-x / \alpha} \sum_{\nu=0}^{\infty}\left(\alpha+\frac{1}{n}\right)^{-\nu} \frac{x^{(\nu,-\alpha)}}{\nu!} f\left(\frac{\nu}{n}\right) \quad(x \geq 0)
$$

where $x^{(\nu,-\alpha)}=x(x+\alpha) \ldots(x+(\nu-1) \alpha), x^{(0,-\alpha)}=1$ and $0 \leq n \alpha \leq 1(\mathrm{cf}$. [13, Example 4, p. 48]). More precisely, the parameter $\alpha=\alpha_{n}$ is coupled with $n$ in such a way that $0 \leq \alpha_{n} \leq 1 / n$. We will refer to this family of operators as Favard, Pethe and Jain operators, briefly FPJ operators.

The purpose of this paper is to study the local rate of convergence and to the asymptotic behaviour of this family of positive linear operators.

To this end, we write the FPJ operators in a slightly different form which is more convenient for our investigation. Putting $c=(\alpha n)^{-1}$ we get a sequence of reals satisfying $c=c_{n} \geq \beta(n=0,1, \ldots)$, for a certain constant $\beta>0$. Then, the operators $M_{n, \alpha}$ are equivalent to the operators $S_{n, c}(n=1,2, \ldots)$ given by

$$
\begin{equation*}
\left(S_{n, c} f\right)(x)=\sum_{\nu=0}^{\infty} p_{n, \nu}^{[c]}(x) f\left(\frac{\nu}{n}\right) \quad(x \geq 0) \tag{1}
\end{equation*}
$$

where

$$
\begin{equation*}
p_{n, \nu}^{[c]}(x)=\left(\frac{c}{1+c}\right)^{n c x}\binom{n c x+\nu-1}{\nu}(1+c)^{-\nu}(\nu=0,1, \ldots) . \tag{2}
\end{equation*}
$$

Note that the operators $S_{n, c}$ are well-defined, for all sufficiently large $n$, since the infinite sum in (1) is convergent if $n>A / \log (1+c)$, provided that $|f(t)| \leq K e^{A t}(t \geq 0)$, that is $f \in E$. In particular there holds $S_{n, c} e_{0}=e_{0}$, where $e_{r}$ denote the monomials given by $e_{r}(x)=x^{r}(r=0,1, \ldots)$. Simple computations yield $S_{n, c} e_{1}=e_{1}$ and $S_{n, c} e_{2}=e_{2}+((1+c) /(n c)) e_{1}$. Thus, the Bohman-Korovkin theorem implies

$$
\lim _{n \rightarrow \infty}\left(S_{n, c} f\right)(x)=f(x)
$$

for all bounded continuous functions $f \in E$. Later on we shall show that the approximation property is valid for all $f \in E$.

Since, for fixed $n, \nu$ and $x$,

$$
\lim _{c \rightarrow+\infty} p_{n, \nu}^{[c]}(x)=e^{-n x} \frac{(n x)^{\nu}}{\nu!}
$$

we obtain in the limiting case $c \rightarrow+\infty$ the classical Szász-Mirakjan operators

$$
\left(S_{n} f\right)(x) \equiv\left(S_{n, \infty} f\right)(x)=e^{-n x} \sum_{\nu=0}^{\infty} \frac{(n x)^{\nu}}{\nu} f\left(\frac{\nu}{n}\right)(x \geq 0)
$$

In the special case $c=1$ we obtain the operator $L_{n} \equiv S_{n, 1}$, given by

$$
\begin{equation*}
\left(L_{n} f\right)(x)=2^{-n x} \sum_{\nu=0}^{\infty}\binom{n x+\nu-1}{\nu} 2^{-\nu} f\left(\frac{\nu}{n}\right)(x \geq 0) \tag{3}
\end{equation*}
$$

introduced independently by A. Lupaş [17, Problem 4, p. 227] in 1995. Lupaş established the Korovkin condition guaranteeing the approximation property. He remarked that the operators $L_{n}$ have a form very similar to the Szász-Mirakjan operators and invited to find further properties. In 1999, O. Agratini [11] investigated the operators of Lupaş (for an announcement of his results see [10]). He derived an asymptotic formula and some quantitative estimates for the rate of convergence. Moreover, he defined the Kantorovich type version and a Durrmeyer variant of the operators $L_{n}$.

In this paper we give estimates for the rate of convergence. Furthermore, we derive the complete asymptotic expansion for the sequence of operators $S_{n, c}$ in the form

$$
\begin{equation*}
\left(S_{n, c} f\right)(x) \sim f(x)+\sum_{k=1}^{\infty} a_{k}(f, c ; x) n^{-k} \quad(n \rightarrow \infty) \tag{4}
\end{equation*}
$$

provided that $f$ admits derivatives of sufficiently high order at $x>0$. Formula (4) means that, for all $q=1,2, \ldots$, there holds

$$
\left(S_{n, c} f\right)(x)=f(x)+\sum_{k=1}^{q} a_{k}(f, c ; x) n^{-k}+o\left(n^{-q}\right) \quad(n \rightarrow \infty)
$$

The coefficients $a_{k}(f, c ; x)$, which are dependent on the sequence $c$, will be given in an explicit form. It turns out that Stirling numbers of first and second kind play an important role. As a special case we obtain the complete asymptotic expansion for the sequence of Szász-Mirakjan operators $S_{n}$.

We remark that in $[1,3,5,6]$ the first author gave analogous results for the Meyer-König and Zeller operators, the Bernstein-Kantorovich operators, the Bernstein-Durrmeyer operators, and the operators of K. Balázs and Szabados, respectively. See also [9]. Asymptotic expansions of multivariate operators can be found in $[4,8]$.

## 2 Rate of convergence

We obtain the following estimate of the rate of convergence when the Lupaş operators are applied to bounded function $f \in E$. All results are consequences of general results (see, e.g., [12, p. 268, Theorem 5.1.2]).

Theorem 2.1 Let $f \in E$ be bounded. Then, for all $x \in[0, \infty), n \in \mathbb{N}$, and $\delta>0$, there holds

$$
\left|\left(S_{n, c} f\right)(x)-f(x)\right| \leq\left(1+\delta^{-1} \sqrt{\frac{1+c}{c n} x}\right) \omega(f ; \delta)
$$

Moreover, if $f$ is differentiable on $[0, \infty)$ with $f^{\prime}$ bounded on $[0, \infty)$, we also have

$$
\left|S_{n, c}(f ; x)-f(x)\right| \leq \sqrt{\frac{1+c}{c n} x}\left(1+\delta^{-1} \sqrt{\frac{1+c}{c n} x}\right) \omega\left(f^{\prime} ; \delta\right) .
$$

Theorem 2.1 applied to $\delta=\sqrt{(1+c) x /(c n)}$ implies
Corollary 2.1 Let $f \in E$ be bounded. Then, for all $x \in[0, \infty)$, and $n \in \mathbb{N}$, there holds

$$
\left|\left(S_{n, c} f\right)(x)-f(x)\right| \leq 2 \omega\left(f ; \sqrt{\frac{1+c}{c n} x}\right)
$$

Moreover, if $f$ is differentiable on $[0, \infty)$ with $f^{\prime}$ bounded on $[0, \infty)$, we also have

$$
\left|\left(S_{n, c} f\right)(x)-f(x)\right| \leq 2 \sqrt{\frac{1+c}{c n} x \omega}\left(f^{\prime} ; \sqrt{\frac{1+c}{c n} x}\right)
$$

## 3 Asymptotic expansion

For $q \in \mathbb{N}$ and $x \in(0, \infty)$, let $K[q ; x]$ be the class of all functions $f \in E$ of polynomial growth which are $q$ times differentiable at $x$. The following theorem presents as our main result the complete asymptotic expansion for the FPJ operators $S_{n, c}$.

Theorem 3.1 Let $q \in \mathbb{N}$ and $x \in(0, \infty)$. For each function $f \in K[2 q ; x]$, the FPJ operators possess the asymptotic expansion

$$
\left(S_{n, c} f\right)(x)=f(x)+\sum_{k=1}^{q} a_{k}(f, c ; x) n^{-k}+o\left(n^{-q}\right) \quad(n \rightarrow \infty)
$$

with the coefficients

$$
\begin{equation*}
a_{k}(f, c ; x)=\sum_{s=k}^{2 k} \frac{f^{(s)}(x)}{s!} x^{s-k} \sum_{j=0}^{k}(-c)^{j-k} T(s, k, j) \quad(k=1,2, \ldots), \tag{5}
\end{equation*}
$$

where the numbers $T(s, k, j)$ are defined by

$$
\begin{equation*}
T(s, k, j)=\sum_{r=k}^{s}(-1)^{s-r}\binom{s}{r} S_{r-j}^{r-k} \sigma_{r}^{r-j} \quad(0 \leq j \leq k \leq s) \tag{6}
\end{equation*}
$$

The quantities $S_{j}^{i}$ and $\sigma_{j}^{i}$ in Eq. (6) denote the Stirling numbers of the first resp. second kind. The Stirling numbers are defined by

$$
\begin{equation*}
x^{j}=\sum_{i=0}^{j} S_{j}^{i} x^{i}, \quad x^{j}=\sum_{i=0}^{j} \sigma_{j}^{i} x^{\underline{i}} \quad(j=0,1, \ldots), \tag{7}
\end{equation*}
$$

where $x^{\underline{i}} \equiv x^{(i, 1)}=x(x-1) \ldots(x-i+1), x^{0}=1$ is the falling factorial.

Remark 3.1 If $f \in \bigcap_{q=1}^{\infty} K[q ; x]$, the FPJ operators possess the complete asymptotic expansion

$$
\left(S_{n, c} f\right)(x)=f(x)+\sum_{k=1}^{\infty} a_{k}(f, c ; x) n^{-k} \quad(n \rightarrow \infty)
$$

where the coefficients $a_{k}(f, c ; x)$ are as defined in (5).
Remark 3.2 For the convenience of the reader, we list the explicit expressions for the initial coefficients $a_{k}(f, c ; x)$ :

$$
\begin{gathered}
a_{1}(f, c ; x)=\frac{(1+c) x f^{\prime \prime}(x)}{2 c} \\
a_{2}(f, c ; x)=(1+c) x \frac{4(c+2) f^{(3)}(x)+3(c+1) x f^{(4)}(x)}{24 c^{2}} \\
a_{3}(f, c ; x)=\frac{1}{48 c^{3}}\left[2(1+c) x\left(c^{2}+6 c+6\right) f^{(4)}(x)\right. \\
\left.+4(c+2)(x(1+c))^{2} f^{(5)}(x)+((1+c) x)^{3} f^{(6)}(x)\right] .
\end{gathered}
$$

An immediate consequence of Theorem 3.1 is the following Voronovskajatype formula.

Corollary 3.1 Let $x \in(0, \infty)$. For each function $f \in K[2 ; x]$, the operators $S_{n, c}$ satisfy

$$
\lim _{n \rightarrow \infty} n\left(\left(S_{n, c} f\right)(x)-f(x)\right)=\frac{1+c}{2 c} x f^{\prime \prime}(x)
$$

Remark 3.3 The second central moment of the operators $S_{n, c}$ is given by

$$
\left(S_{n, c} \psi_{x}^{2}\right)(x)=\frac{(1+c) x}{c n}
$$

where, for each real $x$, we put $\psi_{x}(t)=t-x$.

In the limiting case $c \rightarrow+\infty$ we obtain the following result for the Szász-Mirakjan operators $S_{n}$.

Corollary 3.2 [7, Corollary 3] Let $q \in \mathbb{N}$ and $x \in(0, \infty)$. For each function $f \in K[2 q ; x]$, the Szász-Mirakjan operators possess the asymptotic expansion

$$
\left(S_{n} f\right)(x)=f(x)+\sum_{k=1}^{q} b_{k}(f ; x) n^{-k}+o\left(n^{-q}\right) \quad(n \rightarrow \infty)
$$

with the coefficients

$$
b_{k}(f ; x)=\sum_{s=k}^{2 k} \frac{f^{(s)}(x)}{s!} x^{s-k} \sum_{r=k}^{s}(-1)^{s-r}\binom{s}{r} \sigma_{r}^{r-k} \quad(k=1,2, \ldots) .
$$

In the case $q=2$, i.e., for $f \in K[2 ; x]$, we have the well-known Voronovskajatype formula

$$
\lim _{n \rightarrow \infty} n\left(\left(S_{n} f\right)(x)-f(x)\right)=\frac{1}{2} x f^{\prime \prime}(x) .
$$

We give the series explicitly, for $q=3$ :

$$
\begin{aligned}
& \left(S_{n} f\right)(x)=f(x)+\frac{x f^{\prime \prime}(x)}{2 n}+\frac{4 x f^{(3)}(x)+3 x^{2} f^{(4)}(x)}{24 n^{2}}+ \\
& +\frac{1}{48 n^{3}}\left(2 x f^{(4)}(x)+4 x^{2} f^{(5)}(x)+x^{3} f^{(6)}(x)\right)+o\left(n^{-3}\right)
\end{aligned}
$$

as $n \rightarrow \infty$.
In the special case $c=1$ we obtain the following result on the operators $L_{n}$ of Lupaş.

Corollary 3.3 Let $q \in \mathbb{N}$ and $x \in(0, \infty)$. For each function $f \in K[2 q ; x]$, the operators $L_{n}$ of Lupaş possess the asymptotic expansion

$$
\left(L_{n} f\right)(x)=f(x)+\sum_{k=1}^{q} c_{k}(f ; x) n^{-k}+o\left(n^{-q}\right) \quad(n \rightarrow \infty)
$$

with the coefficients

$$
c_{k}(f ; x)=\sum_{s=k}^{2 k} \frac{f^{(s)}(x)}{s!} x^{s-k} \sum_{j=0}^{k}(-1)^{j-k} T(s, k, j) \quad(k=1,2, \ldots),
$$

where the numbers $T(s, k, j)$ are defined by (6). In the case $q=2$, i.e., for $f \in K[2 ; x]$, we have the Voronovskaja-type formula

$$
\lim _{n \rightarrow \infty} n\left(\left(L_{n} f\right)(x)-f(x)\right)=x f^{\prime \prime}(x)
$$

We give the series explicitly, for $q=3$ :

$$
\begin{aligned}
& \left(S_{n} f\right)(x)=f(x)+\frac{x f^{\prime \prime}(x)}{2 n}+\frac{2 x f^{(3)}(x)+x^{2} f^{(4)}(x)}{2 n^{2}}+ \\
& +\frac{1}{12 n^{3}}\left(13 x f^{(4)}(x)+12 x^{2} f^{(5)}(x)+2 x^{3} f^{(6)}(x)\right)+o\left(n^{-3}\right)
\end{aligned}
$$

as $n \rightarrow \infty$.

## 4 Auxiliary results and proofs

In order to prove our main result we shall need some auxiliary results. Throughout the paper let $e_{r}$ denote the monomials $e_{r}(t)=t^{r}(r=0,1, \ldots)$ and, for each real $x$, put (as above) $\psi_{x}(t)=t-x$. The proof of Theorem 3.1 is based on the following lemmas.

Lemma 4.1 The moments of the Baskakov-Kantorovich operators possess the representation

$$
\left(S_{n, c} e_{r}\right)(x)=\sum_{k=0}^{r} n^{-k} x^{r-k} \sum_{j=0}^{k} S_{r-j}^{r-k} \sigma_{r}^{r-j}(-c)^{j-k} \quad(r=0,1, \ldots)
$$

Proof. Taking advantage of the second identity of (7), we obtain

$$
\left(S_{n, c} e_{r}\right)(x)=n^{-r}\left(\frac{c}{1+c}\right)^{n c x} \sum_{\nu=0}^{\infty}\binom{n c x+\nu-1}{\nu}(1+c)^{-\nu} \sum_{j=0}^{r} \sigma_{r}^{j} \nu^{j}=
$$

$$
\begin{gathered}
=n^{-r}\left(\frac{c}{1+c}\right)^{n c x} \sum_{j=0}^{r} \sigma_{r}^{j}(n c x+j-1)^{\underline{j}} \sum_{\nu=0}^{\infty}\binom{n c x+j-1}{\nu}(1+c)^{-\nu-j}= \\
=n^{-r} \sum_{j=0}^{r} \sigma_{r}^{j}(-n c x)^{\underline{j}}(-c)^{-j}
\end{gathered}
$$

Using the first identity of (7) we have

$$
\begin{gathered}
\left(S_{n, c} e_{r}\right)(x)= \\
=n^{-r} \sum_{j=0}^{r} \sigma_{r}^{j}(-c)^{-j} \sum_{k=0}^{j} S_{j}^{k}(-n c x)^{k}=\sum_{k=0}^{r} n^{k-r} x^{k} \sum_{j=k}^{r} S_{j}^{k} \sigma_{r}^{j}(-c)^{k-j}= \\
=\sum_{k=0}^{r} n^{-k} x^{r-k} \sum_{j=0}^{k} S_{r-j}^{r-k} \sigma_{r}^{r-j}(-c)^{j-k}
\end{gathered}
$$

This completes the proof of Lemma 4.1.

Lemma 4.2 For $s=0,1, \ldots$, the central moments of the FPJ operators possess the representation

$$
\left(S_{n, c} \psi_{x}^{s}\right)(x)=\sum_{k=\lfloor(s+1) / 2\rfloor}^{s} n^{-k} x^{s-k} \sum_{j=0}^{k}(-c)^{j-k} T(s, k, j),
$$

where the numbers $T(s, k, j)$ are as defined in Eq. (6).
Proof. Application of the binomial formula yields for the central moments

$$
\begin{gathered}
\left(S_{n, c} \psi_{x}^{s}\right)(x)=\sum_{r=0}^{s}\binom{s}{r}(-x)^{s-r}\left(S_{n, c} e_{r}\right)(x)= \\
=\sum_{k=0}^{s} n^{-k} x^{s-k} \sum_{j=0}^{k}(-c)^{j-k} \sum_{r=k}^{s}(-1)^{s-r}\binom{s}{r} S_{r-j}^{r-k} \sigma_{r}^{r-j}= \\
=\sum_{k=0}^{s} n^{-k} x^{s-k} \sum_{j=0}^{k}(-c)^{j-k} T(s, k, j) .
\end{gathered}
$$

It remains to prove that $\left(S_{n, c} \psi_{x}^{s}\right)(x)=O\left(n^{-\lfloor(s+1) / 2\rfloor}\right)$. Since this is clear in the case $s=0$, let now $s>0$. It is sufficient to show that, for $0 \leq j \leq k$, there holds $Z(s, k, j)=0$ if $2 k<s$. Obviously $Z(s, 0,0)=0(s=1,2, \ldots)$. Therefore, we have to consider only the case $k \geq 1$.

We first recall some known facts about Stirling numbers which will be useful in the sequel. The Stirling numbers of first resp. second kind possess the representation

$$
\begin{equation*}
S_{r-j}^{r-k}=\sum_{\mu=0}^{k-j} C_{k-j, k-j-\mu}\binom{r-j}{k-j+\mu}, \quad \sigma_{r}^{r-j}=\sum_{\nu=0}^{j} \bar{C}_{j, j-\nu}\binom{r}{j+\nu} \tag{8}
\end{equation*}
$$

$(0 \leq j \leq k \leq r)$.
(see [16, p.151, Eq. (5), resp. p. 171, Eq. (7)]). The coefficients $C_{k, i}$ resp. $\bar{C}_{k, i}$ are independent on $r$ and satisfy certain partial difference equations ([16, p. 150]). Some closed expressions for $C_{k, i}$ and $\bar{C}_{k, i}$ can be found in [1, p. 113]. Taking advantage of representation (8) we obtain, for $0 \leq j \leq k$,

$$
\begin{gathered}
S_{r-j}^{r-k} \sigma_{r}^{r-j}=\sum_{\mu=0}^{k-j} \sum_{\nu=0}^{j} \frac{C_{k-j, k-j-\mu}}{(k-j+\mu)!} \frac{\bar{C}_{j, j-\nu}}{(j+\nu)!} r \underline{j+\nu}(r-j) \frac{k-j+\mu}{}= \\
=\sum_{\mu=0}^{k-j} \sum_{\nu=0}^{j} r^{\underline{k}} P(k, j, \mu, \nu ; r)
\end{gathered}
$$

where

$$
P(k, j, \mu, \nu ; r)=\frac{C_{k-j, k-j-\mu}}{(k-j+\mu)!} \frac{\bar{C}_{j, j-\nu}}{(j+\nu)!}(r-j)^{\underline{\nu}}(r-k)^{\underline{\mu}}
$$

is a polynomial in the variable $r$ of degree $\leq \mu+\nu$. Noting that the term with $r=k-1$ in Eq. (6) vanishes, we conclude that

$$
\begin{aligned}
& Z(s, k, j)=\sum_{\mu=0}^{k-j} \sum_{\nu=0}^{j} \sum_{r=k}^{s}(-1)^{s-r}\binom{s}{r} r^{\underline{k}} P(k, j, \mu, \nu ; r) . \\
& \cdot s^{\underline{k}} \sum_{\mu=0}^{k-j} \sum_{\nu=0}^{j} \sum_{r=0}^{s-k}(-1)^{s-k-r}\binom{s-k}{r} P(k, j, \mu, \nu ; r+k) .
\end{aligned}
$$

Since $P(k, j, \mu, \nu ; r+k)$ is a polynomial in the variable $r$ of degree $\leq \mu+\nu \leq$ $k$, the inner sum vanishes if $k<s-k$, that is, if $2 k<s$. This completes the proof of Lemma 4.2.

In order to extend our main result from bounded functions to functions of polynomial growth, we need the following localization result.

Lemma 4.3 Suppose that $g \in E$ is of polynomial growth, and let $x \in(0, \infty)$ be fixed. Moreover, assume that $g(t)=0$ in a certain neighborhood $U_{\delta}(x)$ of the point $x$. Then

$$
\left(S_{n, c} g\right)(x)=O\left(n^{-m}\right) \quad \text { for each } \quad m \in \mathbb{N} .
$$

Proof. Assume that $|g(t)| \leq M t^{k}$ for $t \in(0, \infty)$. Thus we obtain:

$$
\begin{gathered}
\left|\left(S_{n, c} g\right)(x)\right| \leq \sum_{\nu \geq 0\left|\frac{\nu}{n}-x\right| \geq \delta} p_{n, \nu}^{[c]}(x)\left|g\left(\frac{\nu}{n}\right)\right| \leq \\
\leq M \delta^{-2 m} \sum_{\nu=0}^{\infty} p_{n, \nu}^{[c]}(x)\left(\frac{\nu}{n}\right)^{k}\left(\frac{\nu}{n}-x\right)^{2 m}= \\
=M \delta^{-2 m} \sum_{\nu=0}^{\infty} p_{n, \nu}^{[c]}(x) \sum_{j=0}^{k}\binom{k}{j}(-x)^{k-j}\left(\frac{\nu}{n}-x\right)^{2 m+j}= \\
=M \delta^{-2 m} \sum_{j=0}^{k}\binom{k}{j}(-x)^{k-j}\left(S_{n, c} \psi_{x}^{2 m+j}\right)(x)= \\
=O\left(n^{-m}\right) \quad(n \rightarrow \infty)
\end{gathered}
$$

since $\left(S_{n, c} \psi_{x}^{m}\right)(x)=O\left(n^{-\lfloor(m+1) / 2\rfloor}\right)$ as $n \rightarrow \infty$, by Lemma 4.2.
In order to derive our main result, the complete asymptotic expansion of the operators $S_{n, c}$, we use a general approximation theorem for positive linear operators due to Sikkema [18, Theorem 3] (cf. [19, Theorems 1 and 2]).

Lemma 4.4 Let $I$ be an interval. For $q \in \mathbb{N}$ and fixed $x \in I$, let $A_{n}: L_{\infty}(I) \rightarrow C(I)$ be a sequence of positive linear operators with the property

$$
\begin{equation*}
A_{n}\left(\psi_{x}^{s} ; x\right)=O\left(n^{-\lfloor(s+1) / 2\rfloor}\right)(n \rightarrow \infty)(s=0,1, \ldots, 2 q+2) \tag{9}
\end{equation*}
$$

Then, we have for each $f \in L_{\infty}(I)$ which is $2 q$ times differentiable at $x$ the asymptotic relation

$$
\begin{equation*}
A_{n}(f ; x)=\sum_{s=0}^{2 q} \frac{f^{(s)}(x)}{s!} A_{n}\left(\psi_{x}^{s} ; x\right)+o\left(n^{-q}\right) \quad(n \rightarrow \infty) \tag{10}
\end{equation*}
$$

If, in addition, $f^{(2 q+2)}(x)$ exists, the term $o\left(n^{-q}\right)$ in (10) can be replaced by $O\left(n^{-(q+1)}\right)$.

Proof. By Remark 3.3, assumption (9) in Lemma 4.4 is valid for the operators $S_{n, c}$. Therefore, we can apply Lemma 4.4 and the assertion of Theorem 3.1 follows for bounded functions $f \in E$ after some calculations by Lemma 4.2. By the localization theorem (Lemma 4.3), the asymptotic expansion holds even for functions of polynomial growth.

## References

[1] U. Abel, The complete asymptotic expansion for the Meyer-König and Zeller operators, J. Math. Anal. Appl. 208 (1997), 109-119.
[2] U. Abel, Asymptotic approximation with Stancu Beta operators, Rev. Anal. Numér. Theor. Approx. 27:1 (1998), 5-13.
[3] U. Abel, Asymptotic approximation with Kantorovich polynomials, Approx. Theory Appl. (N.S.) 14:3 (1998), 106-116.
[4] U. Abel, On the asymptotic approximation with bivariate operators of Bleimann, Butzer and Hahn, J. Approx. Theory 97 (1999), 181-198.
[5] U. Abel, Asymptotic approximation by Bernstein-Durrmeyer operators and their derivatives, Approx. Theory Appl. (N.S.) 16:2 (2000), 1-12.
[6] U. Abel and B. Della Vecchia, Asymptotic approximation by the operators of K. Balázs and Szabados, Acta Sci. Math. (Szeged) 66 (2000), 137-145.
[7] U. Abel and M. Ivan, Asymptotic expansion of the Jakimovski-Leviatan operators and their derivatives, in: Functions, Series, Operators, L. Leindler, F. Schipp, J. Szabados (eds.), Budapest, 2002, pp. 103119.
[8] U. Abel and M. Ivan, Asymptotic expansion of the multivariate Bernstein polynomials on a simplex, Approx. Theory Appl. (N.S.) 16:3 (2000), 85-93.
[9] U. Abel and M. Ivan, Asymptotic approximation with a sequence of positive linear operators, J. Comp. Anal. Appl. 3 (2001), 331-341.
[10] O. Agratini, On a problem of A. Lupaş, General Math. 6 (1998), 3-11.
[11] O. Agratini, On a sequence of linear and positive operators, Facta Univ., Ser. Math. Inf. 14 (1999), 41-48.
[12] F. Altomare and M. Campiti, Korovkin-type approximation theory and its applications, de Gruyter, Berlin/New York, 1994.
[13] George A. Anastassiou and Sorin G. Gal, Approximation theory: moduli of continuity and global smoothness preservation, Birkhäuser, Boston, 2000.
[14] L. Comtet, Advanced Combinatorics, Reidel Publishing Comp., Dordrecht, 1974.
[15] G. C. Jain and S. Pethe, On the generalizations of Bernstein and SzaszMirakjan operators, Nanta Math. 10 (1977), 185-193.
[16] C. Jordan, Calculus of finite differences, Chelsea, New York, 1965.
[17] A. Lupaş, The approximation by means of some linear positive operators, in: Approximation Theory (Proceedings of the International Dortmund Meeting IDoMAT 95, held in Witten, Germany, March 1317, 1995), M. W. Müller, M. Felten, and D. H. Mache, eds. (Mathematical research, Vol. 86) Akademie Verlag, Berlin 1995, pp.201-229.
[18] P. C. Sikkema, On some linear positive operators, Indag. Math. 32 (1970), 327-337.
[19] P. C. Sikkema, On the asymptotic approximation with operators of Meyer-König and Zeller, Indag. Math. 32 (1970), 428-440.

Fachhochschule Giessen-Friedberg, University of Applied Sciences, Fachbereich MND, Wilhelm-Leuschner-Strasse 13, 61169 Friedberg, Germany
E-mail address: Ulrich.Abel@mnd.fh-friedberg.de

Department of Mathematics,
Technical University of Cluj-Napoca,
Str. C. Daicoviciu 15, 400020 Cluj-Napoca, Romania
E-mail address: Mircea.Ivan@math.utcluj.ro


[^0]:    ${ }^{1}$ Received 22 December, 2006
    Accepted for publication (in revised form) 15 March, 2007

